2 Existence and Uniqueness of Solution

2.1 Existence of solutions

To gain a roughly estimate of the life-span of the solution for the initial value problem
(2.1) below, in this subsection we reconsider the existence of the solutions of the

following initial value problem for the nonlinear equation:

u’(t) = u'(t)(c1 + cou(t)?), p, ¢>1, 2+c3#0,
u(0) = ug, u'(0) = u;.

(2.1)

For p € Q, we say that p is odd (even, respectively) if p = r/s, r € N, s €
2N+ 1, (r, s) = 1(common factor) and r is odd(even, respectively).
Define
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where

N:‘U0‘+1,M:’U1’+1,

ay =| e | MIpNP™!, ay =| ¢ | gMT, =| ¢y | gNPMT!,

and

Xr = {u e C?0,T) || u|lw< N and || o |[o< M}

We have the following result:

Theorem 2.1 For any initial values uy and uy, there exists a constant T given as

above such that the problem (2.1) possesses a solution u in Xrp.



Proof. Thanks to u € C*, (2.1) can be transformed as follows

u(t) = ug + urt + / / Uy + cou(s)P) dsdr. (2.2)

We take the sequence

r
U (t) = Uy,

uy(t) = ug + upt,
1) o (2.3)

Un(t) = g +urt + [ [Tl (8)4(c1 + Catti(s)P) dsdr ,n > 2.

Now we claim that {u,} converges in
X, ={uecCH0,T):|| u||leo< N and | v [[oe< M}.

At first, to check {u,} C X; (see Proposition 5.2 in Appendices). X; is a closed
bounded set in C*[0,7"), we prove that {u,} is a Cauchy sequence in X;. We have

| tn 41 (t) — un(?) |

= / / al _1(8)) + ealuy () 7un(8)? — w1 (5) w1 (5)7) dsdr |
< /0 /O | ex(ul (5)0 —ul, 1 (8)1) | + | caluly(8)un(8)P —ul, 1 (8)Tun_1(s)P) | dsdr.

Estimate the first and second integrand respectively.
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and also

// | ca(up (8)Tun(s)” = s,y (8) un-1(s)") | dsdr
- / / | co(ul (8)Tun (8)P — uly(8)Tup—1(8)" + b (8)Tup—1(8)" — uly_1(8) un—1(s)?) | dsdr
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By Proposition 5.3 (see Appendices), we get

| wn(8)P — upr () |< pr_l | wn(t) — up—1(2) |

and

|y, (8)P — g,y (8)P [< gMT |, () — g,y () |
Therefore,
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We conclude that
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Let K = (oq + oo + a3)(T' + T;), then K < 1. For n > m > 0, we obtain that

|t = tm |y
- || Up — Up—1 + Up—1 — Up—2 + -+ Um+1 — Um ||c1

< (K"+ K"+ K™Y g — g |

Since that K < 1, therefore, {u,} is a Cauchy sequence in C'[0,T). Hence there

is a solution of problem (2.2) in X;. Thus, we have a solution of problem (2.1) in

Xr={ueC0,T):|| ul|lw< N and || v ||o< M}. O

2.2 Uniqueness of solution

Theorem 2.2 Suppose that u is a classical solution of problem (2.1) in Xp. Then

u 1s the unique solution of problem (2.1) in Xyp.

Proof. Suppose that u and v are two solutions of (2.1) in X. We have

t T
u(t) = ug + urt + / / u'(8)(cy + cou(s)?) dsdr
o Jo
and
t i
v(t) = uo + urt + / / v'(8)9(c1 + cou(s)P) dsdr.
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We recall the proof of existence of solution in the last section. It is easy to get

following results. For t € [0,T)

u(t) ~v(®) |
= /0 /0 1 [u’(t)q — U/(t)q] + ¢ [u/(t)qu(t)pv'(t)qv(t)p] dsdr

_ T?
gM® ! ey ||| v =0 || -5

IN

1 1
+5 | o | MIpNPI'T? || u — v || +5 | co | NPgMI'T? || v — v oo -
Hence

= v floo

1 1
< S e[ MNP [u—vll +5aM (e [ + | oo [ N)T® [0/ = [|os



and
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seeing that (o + s + a3)(T + 7) < 1; thus we have

0<[Ju—v <0

that means that v = v in Xp. 0



